Noy. 3™ 205~

/%kmnmeﬁ( Kaabor '@ Lo 1B ﬁ ——

*Definiion: Power Seies

A oo sened] bt Bz haur theAorm:

apX
n=0 S
_AIWW Senteo ij—‘x:élf has WW
o<
an(x—a) =t (A2 Lo (K00 + =7
=0
2xample@): Drveshi i W
f » Dywes : L
Guamp et gie) (%)
SO\V\A’IFUY\‘. i+_Q|, _}_L("_‘_,,_
a:i
peL<d WW
T S L R S
N \._’rv "\’\/‘z—" \/Z’Q’ w
-‘W\, :
thoee Coases akadl e adins of connergence il nberval
}/mmmg&mc; }
@MWW an indervel
(74
a<x <b
A< x<hb T~
o xsb Rodlias of Gorvergerce =R = 7




2zl
O%M%M
Ao hawn

Sy W“’%W? —o0 L X< 29 ”“‘/k““éﬁf
@(MM%MW R =20 \ﬁ
mm}aﬂl’x:
&Wﬂé@ IV\V\@-“\’I ale
i Al

ZNX = | +9¢+2'7¢L+3)13+— -

| ellh £
///cj/rr)‘% / Rak Tes}

n>o9
”'9/4‘/ (’ml)/;cl —00>1 a&W' slexy =
S0, 1F s WW ] af #=° @ M=

2

5‘

/
*p S " —L ,0
ﬁ;m l? : fCX) £ ra)( X -4} _fﬂ
//“ﬂ, (o) + a)(x,,a).;.f(a)
on a/ém/t A=A

+ f(a)
(X~ )y - ’ﬁ%/m’; ﬁ)CfM"SI

35
zﬂiﬂp tr called “ U aclamrin Sw%




Taylor PC,WWM
Example®: Findl he 4™
for f'(/r)f I cenltered

e T%/WPW

Solukion »
_ -
ﬁ/’o—f'zﬂ ;[U):i
. /
f(xw«% - Far= -1
i
W -—(-I B i
fu)u-éx *’.-'S‘Xq f(\):"
) B )
f(x):_q’f— C/):LH
Tl | A= Z(X=D e
7 Fd 37 a4
g )4 (X——’)q» R




